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OBJECTIVE:

To enable the students to learn various techniques for quantitative decision
making. On successful completion of this course the students will have the
ability to handle financial data more scientifically.
Unit - I
Profit and Loss - Formulae and Simple problems.
(Chapters 11)
Unit - IT
Chain Rule - Time -Work and Wages - Formulae and Simple Problems.
(Chapters 14, 15)
Unit - III
Time and Distance - Trains - Formulae and Simple Problems.
(Chapters 17, 18)
Unit - IV
Simple Interest - Compound Interest - Formulae and Simple Problems.
(Chapters 21, 22)
Unit - V
Area - Volume and Surface Area of Solid Figures- Formulae and Simple
Problems

(Chapters 24, 25)
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11. PROFIT AND LOSS
e

—

IMPORTANT FACTS

Cost Price : The price at which an article i ¢ ; ;
obbreviated as C.P article is purchased, is called its cost price,

Selling Price : The price at which . & _ _ . _
abbreviated as S.P an article is so}d, is called its selling price,
Profit or Gain : If S.P. is greater than C.P, the seller is said to have a profit
or gain. .

Loss : If S.P. is less than C.P, the seller is said to have incurred a loss.

FORMULAE

1. Gain = (S.P) - (C.P) 2. Loss = (C.P) ~ (SP)
3. Loss or gain is always reckoned on C.P.

4 Gain x 100 Loss x 100 ) -
4 Gain% = [-—-————— = e e
C.P. ) % b ( C.P. )
£ RP o OB Cun®) oy 7 gp o (100-Loss%) .~ p
100 100
100 | 100
8. C.P.= x S.P. 9. C.P.= S.P.
(100 + Gain %) , (100 - Loss%) |

10. If an article is scld at a gain of say, 356%, then S.P. = 135% of C.P.
11. If an article is sold at a loss of say, 35%, then S.P. = 65% of C.P.

12. When a person sells two similar items, one at a gain of say, x%, and the other
at a loss of x%, then the seller always incurs a loss given by :

Loss% = Common Loss and Gain%]2 Som 2 ;
0ss% = . 0 TIK

13. If a trader professes to sell his goods at cost price, but uses false weights, then

Error
i = x 100 |%.
Gain% [(True Value) — (Error) } 0

S

SOLVED EXAMPLES

Pe. Ex. 1, A man buys an article for Rs. 27.50 and sells it for Rs. 28.60. Find his gain
rcent, i
8. cp - Rs. 27.50, S.P. = Rs. 28.60.
So, Gain = Rs. (28.60 — 27.50) = Rs. 1.10.

Gain% = ( 110 100}% T
2750
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Ex. 2. If a radio is purchased for Rs. 490 apd sold for Rs. 465.60, find the |,,, '
Sol, C.P. = Rs. 490, SP. = Rs. 465.50. "y
Loss = Rs. (490 — 465.60) = Rs. 24.60.

Loss% = (Mx 100]% = 5%,
290

Ex. 3. Find S.P, when

(i) C.P. = Rs. 56.25, Gain = 20% (if) C.P. = Rs. 80.40, Loss =5y
120
Sol. () S.P = 120% of Rs. 56.25 = Rs. (Tﬁﬁxw%) - Rs. 67.50.
85
(i S.P. = 85% of Rs. 80.40 = Rs. (1—0—0 x80.40) = Rs. 6§_._3_4.
Ex. 4. Find C.P, when
" () S.P = Rs. 40.60, Gain = 16% (ii) S.B » Rs. 51.70, Loss = 134
Sol. () C.P. = Rs. [qu 40.60) = Rs. 55,
116
(i) C.P. = Rs. (18%9 . 51.70} _ Rs. 58.75.

Ex. 5. A person incurs 5% loss by selling a watch for Rs. 1140. At what price shoy;
the watch be sold to earn 5% profit? . (R.R.B. 209

Sol. Let the.aew S.P. be Rs. x. Then,
(100 — loss%) : (1st S.P.) = (100 + gain%) : (2nd S.P)
[100-5 (100+ 5] 105 x 1140
= = xX=|—-
1140 x 95
New S.P. = Rs. 1260.

Ex. 6. A book was sold for Rs. 27.50 with a profit of 10%. If it were sold for Rs. 25.T;
then what would have been the percentage of profit or loss ?

(Hotel Managenrent, 2003)

) = 1260.

Sol. SP. = Rs. 27.50, Profit = 10%.

100 .
So, CP. = Rs. | — x 27. = Rs. 25.
p A (110 X 50] Rs. 25

When SP. = Rs. 25.75, profit = Rs. (25.75 — 25) = Re. 0.75.

Profit% = [%;Ex 100J% = 3%,

-

Ex. 7. If the tost price is 96% of the selling price, then what is the profit percest :
Bol. Let SP. = Rs. 100. Then, C.P. = Rs. 96; Profit = Rs. 4.

4 28
Profit% = | — -,
[96 x 100]% . % = 4.17%.

Ex. 8. The C.P icleg i :
o e C.F. of 21 articles is equal to S.P of 18 articles. Find the gain of =

Bol. Let C.P. of each article be Re. 1.
Then, C.P. of 18 articles =

3 Rs. 18, SP of 18 articles = Rs. 21.
Sr  Gain% = (—13 X 100)% = 16323-%. .






